

الف)  $y = \frac{x+3}{2x^3+3x^2-11x+3}$  مجموع ضرایب صفر  $\rightarrow$  بخش پذیر بر  $(x-1)$   $\rightarrow \frac{x+3}{(x-1)(2x^2+5x-3)}$   $\rightarrow x = \frac{-5 \pm \sqrt{25+24}}{2} = \frac{-5 \pm 7}{2} \rightarrow \begin{cases} x = -3 \\ x = 1 \end{cases}$

$\Rightarrow D_f = \mathbb{R} - \{ \text{ریشه‌های مخرج} \}$   $\rightarrow D_f = \mathbb{R} - \{ -3, 1 \}$  ✓

ب)  $y = \frac{x+3}{2x^3+9x^2+10x+3}$  ضرایب توان زوج و فرد برابر  $\rightarrow$  بخش پذیر بر  $(x+1)$   $\rightarrow \frac{x+3}{(x+1)(2x^2+7x+3)}$   $\rightarrow x = -3, -\frac{1}{2}$

$\Rightarrow D_f = \mathbb{R} - \{ -3, -1, -\frac{1}{2} \}$  ✓

الف)  $y = \frac{x+3}{x^3-2x^2+2x-1}$  مجموع ضرایب صفر  $\rightarrow$  بخش پذیر بر  $(x-1)$   $\rightarrow \frac{x+3}{(x-1)(x^2-x+1)}$   $\rightarrow x = 1$  (صورت صفر)

$\Rightarrow D_f = \mathbb{R} - \{ 1 \}$  ✓

ب)  $y = \sqrt{\frac{x+3}{x^3-2x^2+2x-1}}$   $\xrightarrow{(x-1)}$   $\sqrt{\frac{x+3}{(x-1)(x^2-x+1)}}$   $\rightarrow x = -3$  (صورت صفر)

$\Rightarrow D_f = (-\infty, -3] \cup (1, +\infty)$  ✓

$y = \frac{2}{x^2-5|x-1|-2x+5}$   $\rightarrow D_f = \mathbb{R} - \{ \text{ریشه‌های مخرج} \}$

$\begin{cases} \oplus \text{ قدر مطلق} \rightarrow x^2-7x+10 \rightarrow (x-2)(x-5) \neq 0 \rightarrow x \neq \{ 2, 5 \} \\ \ominus \text{ قدر مطلق} \rightarrow x^2+3x \rightarrow x(x+3) \neq 0 \rightarrow x \neq \{ -3, 0 \} \end{cases}$

$\Rightarrow D_f = \mathbb{R} - \{ -3, 0, 2, 5 \}$  ✓

الف)  $y = \frac{x+3}{|2x+1|-|x+3|}$   $\xrightarrow{x \neq -\frac{1}{2}}$   $|2x+1| \neq |x+3| \xrightarrow{\text{توان ۲}}$   $(2x+1)^2 \neq (x+3)^2 \rightarrow 4x^2+4x+1 \neq x^2+6x+9 \rightarrow 3x^2-2x-8 \neq 0$

$\rightarrow 3x^2-2x-8 \neq 0 \rightarrow x = \frac{2 \pm \sqrt{4+96}}{6} = \frac{2 \pm 10}{6} < \frac{2}{-\frac{1}{3}} \Rightarrow D_f = \mathbb{R} - \{ -\frac{1}{3}, 2 \}$  ✓

ب)  $y = \sqrt{|2x+1|-|x+3|}$   $\rightarrow |2x+1|-|x+3| \geq 0 \rightarrow |2x+1| \geq |x+3| \xrightarrow{\text{توان ۲}}$   $4x^2+4x+1 \geq x^2+6x+9 \rightarrow 3x^2-2x-8 \geq 0$

$\rightarrow 3x^2-2x-8 \geq 0 \rightarrow \begin{cases} x=2 \\ x=-\frac{1}{3} \end{cases}$   $\Rightarrow D_f = (-\infty, -\frac{1}{3}] \cup [2, +\infty)$  ✓

الف)  $y = \log_r(1-\log_r^x)$   $\rightarrow \begin{cases} \text{I} \ x > 0 \\ \text{II} \ 1-\log_r^x > 0 \rightarrow \log_r^x < 1 \rightarrow x < 3 \end{cases}$

$\xrightarrow{n} \text{I} \cap \text{II} \rightarrow D_f = (0, 3)$  ✓

ب)  $y = \log_r(1-\log_r^{\frac{x}{r}})$   $\rightarrow \begin{cases} \text{I} \ x > 0 \\ \text{II} \ \log_r^{\frac{x}{r}} < 1 \rightarrow x < \frac{1}{r} \end{cases}$

$\xrightarrow{n} \text{I} \cap \text{II} \rightarrow D_f = (0, \frac{1}{r})$  ✓

$0 < \frac{1}{r} < 1 \Rightarrow D_f = (0, \frac{1}{r}) \cup (\frac{1}{r}, +\infty)$

